
1)
39  Find Volume of 
               35       Cylinder 

Answer: ____________

2)

A B = 55
Find the Angle at side A.

Answer: ____________

3) Round 26.4029329340 to 8 significant 
figures.

Answer: ____________

4) 35/7 - 12/15

Answer: ____________

5) Find perimeter of 
square having each side 
(s) equals 8946 in

Answer: ____________

6) Find perimeter of 
square having each side 
(s) equals 8946 in

Answer: ____________

7) Find the mode of the following set of data:

181, 181, 181, 181, 181, 181, 181, 
122, 122, 138, 138, 138, 138, 138, 
51, 51, 51, 51, 51, 51, 51

Answer: ____________

8) Round 14.617485003 to the nearest 
whole number.

Answer: ____________

9) Round 14.617485003 to the nearest 
whole number.

Answer: ____________

10) Decrease 56 by 1/8

Answer: ____________

11) 14 - 72 x 6 ÷ 7

Answer: ____________

12) Find perimeter of 
rectangle having 
sides a = 8460 cm 
and b = 8272 cm

Answer: ____________

13)
33  Find Volume of 
               32       Cylinder 

Answer: ____________

14) An amount was decreased by 7% to 
$67.40. Find the original amount.

Answer: ____________

15) Factorise 6j2 + 19j + 13

Answer: ____________
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16)
37  Find Volume of 
                         Square Pyramid 

37
37

Answer: ____________

17) 26724 ÷ 655

Answer: ____________

18) 85.3 x 66.2

Answer: ____________

19) Decrease 130 by 1/65

Answer: ____________

20) 258/10 ÷ 206/7

Answer: ____________

21) b

a o c
Measure angle boa 

Answer: ____________

22) 34 x (-28)

Answer: ____________

23) 34 x (-28)

Answer: ____________

24) 5383 + 4973

Answer: ____________

25)
81

3 /4

Answer: ____________

26) (-4242) + 2378

Answer: ____________

27) Find the mode of the following set of data:

177, 177, 177, 177, 177, 99, 99, 32, 
32, 32, 32, 32, 165, 165, 165, 165, 
165

Answer: ____________

28)

Name the type of angle.

Answer: ____________

29) 4700 ÷ 100

Answer: ____________

30) Find area of square 
having each side (s)
equals 7993 cm

Answer: ____________
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31) Decrease 196 by 3/98

Answer: ____________

32) 2500 ÷ 100

Answer: ____________

33) (3-17)-16

Answer: ____________

34) Solve 7s2 + 4s - 16 = 0
Round your solutions to 1 decimal 
place.

Answer: ____________

35) $111.36 earning 7% compound 
interest for 7 years.

Answer: ____________

36) Convert the following fraction into a 
mixed number: 33/16

Answer: ____________

37) Increase 448.2 by 40%

Answer: ____________

38) Increase 180 by 1/45

Answer: ____________

39)

'Name the type of angle.

Answer: ____________

40) 07:29 am To 03:38 pm

Answer: ____________

41) Solve by factorising 
j2 - 10j + 16 = 0

Answer: ____________

42) 15   9/19 - 25   4/5

Answer: ____________

43) 15   9/19 - 25   4/5

Answer: ____________

44) Round 23.47459 to the nearest 100

Answer: ____________

45) 1211/15 ÷ 257/13

Answer: ____________
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46)
169

6 /12

Answer: ____________

47) (18 ÷ 9) + (15 x 2)

Answer: ____________

48) Decrease 260 by 1/130

Answer: ____________

49) Find area of 
rectangle having 
sides a = 9875 cm 
and b = 9601 cm

Answer: ____________

50) Find area of 
rectangle having 
sides a = 9875 cm 
and b = 9601 cm

Answer: ____________

51) (1 x 28) + (9 x 26)

Answer: ____________

52) 18/
11 ÷ 9/8

Answer: ____________

53) An amount was decreased by 9% to 
$270.00. Find the original amount.

Answer: ____________

54) Factorise q2 + 9q + 20

Answer: ____________

55) Round 10.44335 to the nearest whole 
number.

Answer: ____________

56) Increase 136 by 84%

Answer: ____________

57) b

a o c
Measure angle boc 

Answer: ____________

58) 28/
5 ÷ 5/5

Answer: ____________

59) 1/13 of 208

Answer: ____________

60) Find perimeter of 
rectangle having 
sides a = 9723 ft 
and b = 9128 ft

Answer: ____________
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61) Find perimeter of 
triangle
a = 1768 m, b = 
8768 m,
c = 9891m

Answer: ____________

62) $330.00 earning 9.3% compound 
interest for 3 years.

Answer: ____________

63) 5254 + 6433

Answer: ____________

64) 40/17 + 34/9

Answer: ____________

65) 40/
9 ÷ 23

/18

Answer: ____________

66) 4200 ÷ 60

Answer: ____________

67) Factorise 5s2 + 12s + 7

Answer: ____________

68) Factorise 5s2 + 12s + 7

Answer: ____________

69) Solve by factorising 
s2 - 5s - 6 = 0

Answer: ____________

70)
Find the next three numbers in 
the sequence
45,40,120,115,345,340,1020__,__,__

Answer: ____________

71) 20/19 + 17/10

Answer: ____________

72) Round 10.60093973 to 1 decimal 
places.

Answer: ____________

73) Find the mean of the following set of data:

0.5, 4, 39, 0.6, 0.9, 0.5

Answer: ____________

74) Share 88 in the ratio 9:79

Answer: ____________

75) Round 10.287083802 to the nearest 
whole number.

Answer: ____________
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76) (-3616) - (-2051)

Answer: ____________

77) 7-17 * 713

7-13

Answer: ____________

78) A number was shared in the ratio 
15:93. The smaller share was 55. 
What was the total amount shared?

Answer: ____________

79) A number was shared in the ratio 
15:93. The smaller share was 55. 
What was the total amount shared?

Answer: ____________

80) A number was shared in the ratio 
15:93. The smaller share was 55. 
What was the total amount shared?

Answer: ____________

81) 13/5 + 35/8

Answer: ____________

82) $456.74 earning 8.4% compound 
interest for 6 years.

Answer: ____________

83) 1/50 of 300

Answer: ____________

84) Factorise 7d2 + 14d + 7

Answer: ____________

85) 8605 - 8561

Answer: ____________

86) 2147.9 - 3545.6

Answer: ____________

87) Write 50 in standard form.

Answer: ____________

88) Find the range of the following set of data:

0.7, 0.7, -17, -8, 10, -12

Answer: ____________

89) Find area of 
triangle 
a = 9001 cm, b = 
9943 cm

Answer: ____________

90) 570 ÷ 10

Answer: ____________
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91) 570 ÷ 10

Answer: ____________

92) (-14) x 76

Answer: ____________

93)

A = 38  B
Find the Angle at side B.

Answer: ____________

94) Factorise 9x2 + 29x + 20

Answer: ____________

95) Find area of square 
having each side (s)
equals 3931 cm

Answer: ____________

96) Increase 351 by 73%

Answer: ____________

97) Factorise j2 + 6j + 8

Answer: ____________

98) Find perimeter of 
rectangle having 
sides a = 3182 cm 
and b = 2559 cm

Answer: ____________

99) 5933 + (-2341)

Answer: ____________

100) (11 x 13) x 6 + 20

Answer: ____________

Total: ___ / 100
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Answers:

1) 150089.58902525 2) 125 3) 26.402933 4) 41/5 5) 35784in 6) 35784in 7) 181

8) 15 9) 15 10) 49 11) 12) 33464cm 13) 26540.174737527 14) $62.68

15) (6j + 13)(j + 1) 16) 16884.333333333 17) 40.8 18) 5646.86 19) 128 20) 1173/730 21) 118

22) 23) 24) 10356 25) 27 26) -1864 27) 177 28) Acute

29) 47 30) 63888049cm 31) 190 32) 25 33) 3272 34) s = 1.3 or -1.8 35) $178.82

36) 21/16 37) 627.48 38) 184 39) Obtuse 40) 08 Hours 09 Mins 41) j = 8 or 2 42) 2031/95

43) 2031/95 44) 23.47 45) 2483/4980 46) 13 47) 48) 258 49) 94809875cm

50) 94809875cm 51) 832 52) 15/11 53) $245.70 54) (q + 4)(q + 5) 55) 10 56) 250.24

57) 130 58) 53/5 59) 16 60) 37702ft 61) 20427m 62) $430.90 63) 11687

64) 620/153 65) 311/23 66) 70 67) (5s + 7)(s + 1) 68) (5s + 7)(s + 1) 69) s = 6 or -1 70) 1015,3045,3040,

71) 2143/190 72) 10.6 73) 7.58 74) 1 : 87 75) 10 76) -1565 77) 79

78) 396 79) 396 80) 396 81) 639/40 82) $741.05 83) 6 84) (7d + 7)(d + 7)

85) 44 86) -1397.7 87) 5 x 101 88) 27 89) 35081823.514917cm 90) 57 91) 57

92) 93) 142
94) (9x + 20)(x 
+ 1)

95) 15452761cm 96) 607.23 97) (j + 2)(j + 4) 98) 11482cm

99) 3592 100)
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